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[image: image2.jpg]The task of the driver linearization is to get a better behaviour of the

speaker driver.
Therefore a near field measurement will be carried out.

If you need to know more about how to record please see the logsweep
recording tutorial.

The linearization will be done in the driver's working range thus in the
passband of the according crossover. So the logsweep measurement is
selected in a range where the XO has an amplitude response greater

than -50 dB. See next picture ...



[image: image3.jpg]Acourate - Curve 1: X02L48
Fe €8 Vew TDFunctons FOFunctins Generate Logweep e

S[C) = futoscde ClFatie

dive ©1 0203040506 e Our ©40 082 O%0 Ve Ohmk Oftase OTme OM

Anpitude X He] 10385540 Y (4B} 1157 Cycle T [ns} 0.096 Wave Length em} 3.3
o

@ —xoates
¥ — Seres2
[ — eres3
¥ — serest
¥ — Seress.
¥ — seriess.

0

Phase X.24000000 Y. 0745

@ —xoxss
Selection of the IV — Series2

logsweep frequency i)

range v — Seress.
¥ — Seress.

1 10 100 000

P ot e
QR [maz [ [miesm | Gphwe Olmeap Oy
Tops 5

Tine donein{sec] X 1385 Y:0017 Sampe: 85535 > roxell

o1 e ¥ —seres2 | Min-00172632760
v —Series3 | Mastt 0121532767

005 e v —Seress | MM 01215@32767

o ¥ — Seress.

o o1 02 03 04 o0s o0s 07 s 08 12 1 7 — Seress

Se cive diy e
QR e [we soses 006z (000000 | ©Puse OStew Ostos

Selected Curve: 1 Status: riginal 'V 06m ) 200572006 by Dr. Us Brisggemann




[image: image4.jpg]Acourate - Curve 1: X02L48
Fe €8 Vew TDFunctons FOFunctins Generate Logweep e

S[C) = futoscde ClFatie

fove ©1 0203040506 Samwe Our @4a0 O882 O%0

Anpitude X He] 10385540 Y (4B} 1157 Cycle T [ns} 0.096 Wave Length em} 3.3
o

0

Phase X.24000000 Y. 0745

v —xousn
7 — Seres2
— Series3
— Seriess
— Seress.
7 — Seress.

10 100 1000

P ot e
@ 3 [sie s || ©re Ol O Groupdsy

Tine donein{sec] X 1385 Y:0017 Sampe: 85535

—xoze

o1 T
005 +
o

— Seriss2
— Seres3
— Seriesa

Seriess

01 02 03 04 05 0s 07 08 03

QECamE Goss Jooss o
SocetCaverT S o

G P — s

Singl curve dislay pe.
©Puse OStep O RMSLog

Taps 65535
Max 01312632768
Min 00172622760
Ma 01215032767
Mink 01215@32767

V0.6 ) 2005/2006 by Dr. Uk Bisggemann

R



[image: image5.jpg]Acourate - Curye 1: X021.48

S[C) = Fcscse [Fatine

e ©1 0203040506 Sk Ou1 @ea0 02 O%0 Vo Otmpt OPhase OTie QA1

Cuve

Ampltude X [H2] 1462870 Y [6B] 1157 Cycle Time s} 05654 Wave Length fom} 235
o 7 —xoass

Seies2

5 $8 / Acourate - LoSweep and Inverse Generation e
100 2 | Amptaverage | AmplmasEnvelope | Nomeize | SC | LogSwesp | SweepCony | L ¢ » |- Seriess
150 Seriess

Samplerate

0
B StanFrequency |10 Qw0 © 4000
EndFiequeny 10000 Osem O %00
Dustionfsec) 60
2 sogitn 108 Preciin

O edneal Logsweep generation

Fadelnfeec) (01
from 100 Hz to 10 kHz

Py (11 e
Sience(sec) |1 Omono

@ stereo (L. then R)

st

Tops 5
Mo 131202768
o1 Mn 00172652760
Mo 01215032767
o0s Mo 012152767
o
o o1 o2 s o4 o5 o o7 o o5 1 11 12 13
=— E—
Q@@ e Guses (006 (00000 | @Pise OSer ORMSLog
Selected Curve: 1 Status: original 'V 0.6mx () 2005/2006 by Dr. Uk Briiggemann

i i EEEE IS R



[image: image6.jpg]Atfter the logsweep import the recording can be carried out.
In our example the microphone is placed 40 cm in front of the right midrange driver center.
For the recording Audacity is used.
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[image: image11.jpg]Now after recording we can further process the data with Acourate
to compute a linearization filter.
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